

Article



Analysis of Cauchy Problems and Diffusion Equations Associated with the Hilfer–Prabhakar Fractional Derivative via Kharrat–Toma Transform

Ved Prakash Dubey¹, Jagdev Singh^{2,3}, Sarvesh Dubey⁴ and Devendra Kumar^{3,5,6,*}

- ¹ Faculty of Mathematical and Statistical Sciences, Shri Ramswaroop Memorial University, Barabanki 225003, Uttar Pradesh, India; vpdubey19@gmail.com
- ² Department of Mathematics, JECRC University, Jaipur 303905, Rajasthan, India
- ³ Department of Computer Science and Mathematics, Lebanese American University, Beirut P.O. Box 13-5053, Lebanon
- ⁴ Department of Physics, L.N.D. College, B.R. Ambedkar Bihar University, Muzaffarpur, Motihari 845401, Bihar, India
- ⁵ Department of Mathematics, University of Rajasthan, Jaipur 302004, Rajasthan, India
- ⁶ Department of Mathematics, Kyung Hee University, 26 Kyungheedae-ro, Dongdaemun-gu, Seoul 02447, Republic of Korea
- * Correspondence: devendrakumar@uniraj.ac.in or devendra.maths@gmail.com

Abstract: In this paper, the Kharrat–Toma transforms of the Prabhakar integral, a Hilfer–Prabhakar (HP) fractional derivative, and the regularized version of the HP fractional derivative are derived. Moreover, we also compute the solution of some Cauchy problems and diffusion equations modeled with the HP fractional derivative via Kharrat–Toma transform. The solutions of Cauchy problems and the diffusion equations modeled with the HP fractional derivative are computed in the form of the generalized Mittag–Leffler function.

Keywords: Hilfer–Prabhakar fractional derivative; Cauchy problems; diffusion equations; Kharrat–Toma transform; Mittag–Leffler function

MSC: 26A33; 42B10; 33E12; 34A08; 44A35

1. Introduction

Integral transforms are very relevant in solving differential and integral equations with initial and boundary value conditions. Recently, Kharrat and Toma [1] suggested a new integral transform called Kharrat-Toma (KT) transform with applications to initial value problems. In the field of fractional calculus, various notable works have been reported. Hilfer [2], Podlubny [3], and Kilbas [4] have provided efficient literature on the theory of fractional differential equations (FDEs). Hilfer [5] generalized the Caputo and Riemann-Liouville (RL) fractional derivative operators (FDOs). The Prabhakar integral and derivative were introduced by replacing the kernel of the RL integral operator with the three-parameter Mittag–Leffler function [6]. The generalization of the Prabhakar integral appears as an important tool in solving the problems involving the Hilfer–Prabhakar (HP) fractional derivative utilizing the integral transform technique. The HP fractional derivative (HPFD) and its regularized Caputo version were introduced in [6]. Panchal et al. [7] computed the Sumudu integral transform of HP fractional derivatives and demonstrated its applications to Cauchy problems. Moreover, Singh et al. [8] provided the solution for a free-electron laser (FEL) equation modeled with the HP fractional order derivative using the Elzaki transform. Furthermore, Singh et al. [9] adopted a new method to investigate the Cattaneo–Hristov diffusion model and fractional diffusion equations with the HP derivative.

This paper derives the KT transform of the Prabhakar integral (PI) and the HP fractional derivative and its regularized version, and the derived formulae were used further to



Citation: Dubey, V.P.; Singh, J.; Dubey, S.; Kumar, D. Analysis of Cauchy Problems and Diffusion Equations Associated with the Hilfer–Prabhakar Fractional Derivative via Kharrat–Toma Transform. *Fractal Fract.* **2023**, *7*, 413. https://doi.org/10.3390/ fractalfract7050413

Academic Editor: Bruce Henry

Received: 26 March 2023 Revised: 9 May 2023 Accepted: 16 May 2023 Published: 20 May 2023



Copyright: © 2023 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/). explore the solutions of some non-homogeneous Cauchy-type FDEs [6] modeled with the HP fractional derivative. Moreover, the diffusion equations in 1D and 2D spaces [10–12] modeled with the HP fractional derivative were also solved by an integral method consisting of Fourier sine transform (FST) [13] and KT transform [1]. The remaining paper is organized as follows: Section 2 presents the definition and properties of the KT transform and HP fractional derivatives. Section 3 derives the KT transform of the Prabhakar integral and HP fractional derivatives. In Section 4, the derived results from the previous section are utilized in solving Cauchy problems involving the HP derivative and its regularized version. Section 5 presents the application of the integral method consisting of FST and KT transform in solving diffusion equations with the HP fractional derivative. Finally, Section 6 presents the concluding remarks.

2. Preliminaries: Kharrat-Toma Transform and HP Fractional Derivative Operator

In the present paper, we follow these definitions, theorems, and symbols:

Definition 1 ([1]). A function $\Im(\xi)$ is called of exponential order on every finite interval in $[0, \infty)$ if \exists a positive number K such that $|\Im(\xi)| \leq Ke^{\alpha\xi}$, K > 0, $\alpha > 0$, $\forall \xi \geq 0$.

Definition 2 ([1]). Let $\Im(\xi)$ be a real valued function such that $\Im(\xi) > 0$ for $\xi \ge 0$ and $\Im(\xi) = 0$ for $\xi < 0$. If $\Im(\xi)$ is piece-wise continuous and of exponential order, the KT transform (KTT) of the function $\Im(\xi)$ denoted by $B[\Im(\xi)]$ is expressed by:

$$B[\Im(\xi)] = G(s) = s^3 \int_0^\infty e^{-\frac{\xi}{s^2}} \Im(\xi) \, d\xi; \, s > 0, \tag{1}$$

providing the integral on the right exists. Here, s denotes the transform variable. Here, $\Im(\xi)$ is called the inverse KT or the inverse of G(s) and is expressed by $\Im(\xi) = B^{-1}[G(s)]$.

Theorem 1 ([1]). (Sufficient criterion for the existence of the KT transform)

The KT transform $B[\mathfrak{F}(\xi)]$ *exists if it has exponential order and* $\int_{0}^{b} |\mathfrak{F}(\xi)| d\xi$ *exists for any* b > 0.

Theorem 2 ([1]). (*Linearity property*)

If a and b are any constants and $\Im_1(\xi)$ and $\Im_2(\xi)$ are functions, then:

$$B\{a\mathfrak{S}_1(\xi) + b\mathfrak{S}_2(\xi)\} = aB[\mathfrak{S}_1(\xi)] + bB[\mathfrak{S}_2(\xi)].$$

$$(2)$$

Theorem 3 ([1]). (*KT transform of the mth-order derivative*)

If $\mathfrak{S}^m(\xi)$ is the mth-order derivative of the function $\mathfrak{S}(\xi)$ in respect of ξ , then its KT transform is given by:

$$B\left[\mathfrak{S}^{(m)}(\xi)\right] = G_m(s) = \frac{1}{s^{2m}}G(s) - \sum_{k=0}^{m-1} s^{-2m+2k+5}\mathfrak{S}^{(k)}(0), \ m \ge 1.$$
(3)

For m = 1, 2, 3, we have:

$$B[\Im'(\xi)] = G_1(s) = \frac{1}{s^2}G(s) - s^3\Im(0),$$
(4)

$$B[\mathfrak{S}''(\xi)] = G_2(s) = \frac{1}{s^4}G(s) - s\mathfrak{S}(0) - s^3\mathfrak{S}'(0).$$
(5)

Similarly, the KT transform of the first-order partial derivative of a function $\Im(y,\xi)$ *is written as:*

$$B\left[\frac{\partial\mathfrak{F}}{\partial\xi}(y,\xi)\right] = G(y,s) = \frac{1}{s^2}G(y,s) - s^3\mathfrak{F}(y,0).$$
(6)

Theorem 4 ([1]). (*Convolution theorem for KT transform*)

If $\overline{\mathfrak{F}}_1(s) \& \overline{\mathfrak{F}}_2(s)$, respectively, are the KT transforms of $\mathfrak{F}_1(\xi) \& \mathfrak{F}_2(\xi)$, then:

$$B[\mathfrak{F}_1 * \mathfrak{F}_2] = \frac{1}{s^3} \overline{\mathfrak{F}}_1(s) \overline{\mathfrak{F}}_2(s),\tag{7}$$

where $\Im_1 * \Im_2$ is the convolution of two functions $\Im_1(\xi)$ and $\Im_2(\xi)$.

Some important formulae for the KT transform of special functions described in refs. [1] are constituted here: $B[1] = s^5$, $B[\xi^m] = s^{2m+5} m!$, $B[\sin(kx)] = \frac{ks^7}{1+k^2s^4}$, $B[\cos(kx)] = \frac{s^5}{1+k^2s^4}$, $B[\xi^m] = s^{2m+5} m!$ for m = 1, 2...

Definition 3 ([1]). (Inverse of the KT transform)

The inverse of the KT transform is defined by:

$$B^{-1}[G(s)](\xi) = \Im(\xi) = B^{-1}\left[s^3 \int_0^\infty \Im(\xi) e^{-\frac{\xi}{s^2}} d\xi\right], \ \xi > 0, \tag{8}$$

where G(s) denotes the KT transform of the function $\Im(\xi)$.

Definition 4 ([14]). Let $\Im(\xi)$ be a real valued function taken on $]-\infty, \infty[$ and be section-wise continuous in each partial interval of finite length and completely integrable in $(-\infty, \infty)$; then, $F[\Im(\xi)](p) = \int_{-\infty}^{\infty} e^{-ip\xi} \Im(\xi) d\xi$ is called Fourier transform (FT) of $\Im(\xi)$ and is denoted by $\widehat{F[\Im(\xi)]}(p) = \Im(p)$. The function $\Im(\xi)$ called the inverse FT of $\Im(p)$ expressed by $\Im(\xi) = F^{-1}[\widehat{\Im}(p)](\xi)$ and is formulated as:

$$\Im(\xi) = F^{-1}\left[\widehat{\Im}(p)\right](\xi) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{ip\xi} \widehat{\Im}(p) dp.$$
(9)

Definition 5 ([13]). The Fourier sine transform of a function $\Im(\xi)$ defined in Definition 4 is given by:

$$F_{\sin e}[\Im(\xi)](p) = \hat{\Im}_{fst}(p) = \frac{2}{\pi} \int_0^\infty \Im(\xi) \sin p\xi \, d\xi$$

The function $\Im(\xi)$ *is called the inverse Fourier transform of* $\Im_{fst}(p)$ *and is formulated as:*

$$\Im(\xi) = F_{\sin e}^{-1} \left[\hat{\Im}_{fst}(p) \right](\xi) = \frac{2}{\pi} \int_0^\infty \hat{\Im}_{fst}(p) \sin p\xi \, dp. \tag{10}$$

Definition 6 ([2]). (Hilfer derivative)

Let $\sigma \in (0, 1), \lambda \in [0, 1], \Im \in L^1(\alpha, \beta), -\infty < \alpha < \xi < \beta < \infty, \left(\Im * I_{a+}^{(1-\sigma)(1-\lambda)}\right)(\xi) \in AC^1[\alpha, \beta].$

Then, the Hilfer fractional derivative (HFD) of $\Im(\xi)$ of order σ and type λ is given by:

$$\left(D_{a+}^{\sigma,\lambda}\Im\right)(\xi) = \left(I_{a+}^{\lambda(1-\sigma)}\frac{d}{d\xi}I_{a+}^{(1-\sigma)(1-\lambda)}\Im\right)(\xi).$$
(11)

The HFD operator is considered as an interpolator between the RL and Caputo derivative operators.

Definition 7 ([6]). (Regularized version of HFD)

Let $\sigma \in (0, 1)$, $\lambda \in [0, 1]$, and $\Im \in AC^1[0, \beta]$, $0 < \xi < \beta < \infty$. Then, the regularized version of HFD of $\Im(\xi)$ of order σ and type λ is defined as:

$$\left(D_{0+}^{\sigma,\lambda}\Im\right)(\xi) - \frac{\xi^{-\sigma}\Im(0^+)}{\Gamma(1-\sigma)} = {}^C D_{0+}^{\sigma}\Im(\xi),\tag{12}$$

where ${}^{C}D_{0+}^{\sigma}\Im(\xi)$ denotes the Caputo fractional derivative (CFD) operator.

Definition 8 ([15]). The generalized three parameters Mittag–Leffler function (MLF) given by Prabhakar is formulated as $E_{\eta,\sigma}^{\Theta}(z) = \sum_{k=0}^{\infty} \frac{\Gamma(\Theta+k)}{\Gamma(\Theta)\Gamma(\eta k+\sigma)} \frac{z^k}{k!}$ for $\eta, \sigma, \Theta \in C$ and $\operatorname{Re}(\eta) > 0$, where C specifies the set of complex numbers.

Definition 9. *Garra et al.* [6] *introduced the generalization form of the Hilfer derivative by substituting the RL integral in the formula of the Hilfer derivative with a more general integral operator with kernel* $e_{\eta,\sigma,\theta}^{\Theta}(\xi) = \xi^{\sigma-1} E_{\eta,\sigma}^{\Theta}(\theta\xi^{\eta})$, where $\xi \in R$, $\eta, \sigma, \theta, \Theta \in C$, $\operatorname{Re}(\sigma)$, $\operatorname{Re}(\eta) > 0$, and $E_{\eta,\sigma}^{\Theta}(z) = \sum_{k=0}^{\infty} \frac{\Gamma(\Theta+k)}{\Gamma(\Theta)\Gamma(\eta k+\sigma)} \frac{z^k}{k!}$ is the generalized MLF investigated for the first time in [15].

Definition 10 ([15,16]). (*Prabhakar integral*)

Let $\Im \in L^1(0,\beta)$, $0 < \xi < \beta < \infty$. Then, the Prabhakar integral is written as:

$$E^{\Theta}_{\eta,\sigma,\theta,0^{+}}\Im(\xi) = \int_{0}^{\xi} \left(\xi - y\right)^{\sigma-1} E^{\Theta}_{\eta,\sigma} \left[\theta(\xi - y)^{\eta}\right] \Im(y) dy = \left(\Im * e^{\Theta}_{\eta,\sigma,\theta}\right)(\xi), \tag{13}$$

where * denotes the convolution operation; $\eta, \sigma, \theta, \Theta \in C$ with $\operatorname{Re}(\eta)$, $\operatorname{Re}(\sigma) > 0$ and

$$e^{\Theta}_{\eta,\sigma,\theta}(\xi) = \xi^{\sigma-1} E^{\Theta}_{\eta,\sigma}(\theta\xi^{\eta}).$$
⁽¹⁴⁾

Definition 11 ([6]). (*HP fractional derivative*)

Let $\sigma \in (0, 1)$, $\lambda \in [0, 1]$, $\Im \in L^1(0, \beta)$, $0 < \xi < \beta < \infty$ and let $\left(\Im * e_{\eta,(1-\lambda)(1-\sigma),\theta}^{-\Theta(1-\lambda)}\right)(\xi) \in AC^1[0,\beta]$. The HP fractional derivative (HPFD) of $\Im(\xi)$ of order σ illustrated as $D_{\eta,\theta,0^+}^{\Theta,\sigma,\lambda}\Im(\xi)$ is defined by:

$$D_{\eta,\theta,0^{+}}^{\Theta,\sigma,\lambda}\Im(\xi) = \left(E_{\eta,\lambda(1-\sigma),\theta,0^{+}}^{-\Theta\lambda}\frac{d}{d\xi}\left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta(1-\lambda)}\Im\right)\right)(\xi),\tag{15}$$

where $\Theta, \theta \in R$, $\eta > 0$ and $E^0_{\eta,0,\theta,0^+} \Im = \Im$.

Here, it is observed that the mathematical expression (15) reduces to the Hilfer derivative for $\Theta = 0$.

Definition 12 ([6]). (*Regularized version of the HP fractional derivative*)

Let $\Im \in AC^1[0,\beta]$, $0 < \xi < \beta < \infty$ and let $\sigma \in (0, 1)$, $\lambda \in [0, 1]$, $\Theta, \theta \in R$, $\eta > 0$. The regularized version of the HPFD of $\Im(\xi)$ of order σ is written as ${}^{C}D_{\eta,\theta,0^+}^{\Theta,\sigma}\Im(\xi)$ and defined by:

$${}^{C}D^{\Theta,\sigma}_{\eta,\theta,0^{+}}\Im(\xi) = \left(E^{-\Theta\lambda}_{\eta,\lambda(1-\sigma),\theta,0^{+}}E^{-\Theta(1-\lambda)}_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}\frac{d}{d\xi}\Im\right)(\xi).$$
(16)

In addition:

$$\left(E^{\Theta}_{\eta,\sigma,\theta,0^{+}}E^{\Lambda}_{\eta,\lambda,\theta,0^{+}}\Im\right)(\xi) = \left(E^{\Theta+\Lambda}_{\eta,\sigma+\lambda,\theta,0^{+}}\Im\right)(\xi).$$
(17)

3. Kharrat-Toma Transform of the Prabhakar Integral and HP Fractional Derivatives

This section derives the formula for the KT transform of the Prabhakar integral and HPFD and its regularized Caputo version.

Lemma 1. The KT transform of the kernel function $e_{\eta,\sigma,\theta}^{\Theta}(\xi)$ is given by:

$$B\left[e_{\eta,\sigma,\theta}^{\Theta}(\xi)\right] = s^{2\sigma+3} \left[1 - \theta \ s^{2\eta}\right]^{-\Theta}$$

for $\sigma \in (0, 1)$, $\Theta, \theta \in R$, $\eta > 0$ and consequently, the KT transform of the Prabhakar integral is obtained as:

$$B\left[E^{\Theta}_{\eta,\sigma,\theta,0^{+}}\Im(\xi)\right] = s^{2\sigma}B(\Im)\left[1-\theta\,s^{2\eta}\right]^{-\Theta}.$$

Proof. From Definition 8 of the three-parameter generalized Mittag–Leffler function, we have:

$$E^{\Theta}_{\eta,\sigma}(\theta\xi^{\eta}) = \sum_{k=0}^{\infty} \frac{\Gamma(\Theta+k)}{\Gamma(\Theta)\Gamma(\eta k+\sigma)} \frac{(\theta\xi^{\eta})^{k}}{k!}.$$
(18)

From Equations (18) and (14), we have:

$$e_{\eta,\sigma,\theta}^{\Theta}(\xi) = \sum_{k=0}^{\infty} \xi^{\sigma-1} \frac{\Gamma(\Theta+k)}{\Gamma(\Theta)\Gamma(\eta k+\sigma)} \frac{(\theta\xi^{\eta})^k}{k!}.$$
(19)

Taking the KT transform of Equation (19), we obtain:

$$B\left[e_{\eta,\sigma,\theta}^{\Theta}(\xi)\right] = B\left[\sum_{k=0}^{\infty} \xi^{\sigma-1} \frac{\Gamma(\Theta+k)}{\Gamma(\Theta)\Gamma(\eta k+\sigma)} \frac{(\theta\xi^{\eta})^{k}}{k!}\right]$$

$$= \sum_{k=0}^{\infty} \frac{\Gamma(\Theta+k)}{\Gamma(\Theta)\Gamma(\eta k+\sigma)} \frac{\theta^{k}}{k!} B\left(\xi^{\eta k+\sigma-1}\right)$$

$$= \sum_{k=0}^{\infty} \frac{\Gamma(\Theta+k)}{\Gamma(\Theta)\Gamma(\eta k+\sigma)} \frac{\theta^{k}}{k!} s^{2(\eta k+\sigma-1)+5}(\eta k+\sigma-1) !$$

$$= s^{2\sigma+3} \sum_{k=0}^{\infty} \frac{\Gamma(\Theta+k)}{\Gamma(\Theta)} \frac{(\theta s^{2\eta})^{k}}{k!}.$$
(20)

After simplification, we obtain:

$$B\left[e_{\eta,\sigma,\theta}^{\Theta}(\xi)\right] = s^{2\sigma+3} \left[1 - \theta \ s^{2\eta}\right]^{-\Theta}$$

Now, by using the formula of the Prabhakar integral and the convolution transform of KT, the KT transform of the Prabhakar integral is obtained as:

$$B\left[E^{\Theta}_{\eta,\sigma,\theta,0^{+}}\Im(\xi)\right] = s^{2\sigma}B(\Im)\left[1-\theta s^{2\eta}\right]^{-\Theta}.$$
(21)

The above obtained formulae will be used frequently in forthcoming lemmas and theorems.

Lemma 2. The KT transform of the HP fractional derivative $D_{\eta,\theta,0^+}^{\Theta,\sigma,\lambda} \Im(\xi)$ provided in Equation (15) is given by:

$$B\left(E_{\eta,\lambda(1-\sigma),\theta,0^{+}}^{-\Theta\lambda}\frac{d}{d\xi}\left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta(1-\lambda)}\Im\right)\right)(s)$$

$$=s^{-2\sigma}\left[1-\theta s^{2\eta}\right]^{\Theta}B[\Im](s)-s^{2\lambda(1-\sigma)+3}\left[1-\theta s^{2\eta}\right]^{\Theta\lambda}\left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta(1-\lambda)}\Im\right)_{\xi=0^{+}}.$$
(22)

Proof. The KT transform of the HP fractional derivative is given as:

$$B\left(D_{\eta,\theta,0^{+}}^{\Theta,\sigma,\lambda}\Im(\xi)\right)(s) = B\left(E_{\eta,\lambda(1-\sigma),\theta,0^{+}}^{-\Theta\lambda}\frac{d}{d\xi}\left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta(1-\lambda)}\Im\right)\right)(s).$$
(23)

Utilizing the formula of the Prabhakar integral, Equation (23) is reduced as:

$$B\left(D_{\eta,\theta,0^{+}}^{\Theta,\sigma,\lambda}\Im(\xi)\right)(s) = B\left(\frac{d}{d\xi}\left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta(1-\lambda)}\Im(\xi)\right) * e_{\eta,\lambda(1-\sigma),\theta}^{-\Theta\lambda}(\xi)\right)(s).$$
(24)

Through the convolution theorem for KT transform and using Lemma 1, Equation (24) is expressed as:

$$\begin{split} B\left(D_{\eta,\theta,0^{+}}^{\Theta,\sigma,\lambda}\Im(\xi)\right)(s) &= \frac{1}{s^{3}}B\left(e_{\eta,\lambda(1-\sigma),\theta}^{-\Theta\lambda}(\xi)\right)B\left(\frac{d}{d\xi}\left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta(1-\lambda)}\Im(\xi)\right)\right)(s) \\ &= \frac{1}{s^{3}}s^{2\lambda(1-\sigma)+3}\left[1-\theta\,s^{2\eta}\right]^{\Theta\lambda}B\left(\frac{d}{d\xi}\left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}\Im(\xi)\right)\right)(s) \\ &= s^{2\lambda(1-\sigma)}\left[1-\theta\,s^{2\eta}\right]^{\Theta\lambda}\left[\frac{1}{s^{2}}B\left[E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}\Im(\xi)\right](s) - s^{3}\left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta(1-\lambda)}\Im(\xi)\right)_{\xi=0^{+}}\right] \\ &= s^{2\lambda(1-\sigma)}\left[1-\theta\,s^{2\eta}\right]^{\Theta\lambda}\left[\frac{1}{s^{2}}B\left[\Im\ast\aste_{\eta,(1-\lambda)(1-\sigma),\theta}^{-\Theta(1-\lambda)}(\xi)\right](s) - s^{3}\left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta(1-\lambda)}\Im_{\xi=0^{+}}\right)\right] \\ &= s^{2\lambda(1-\sigma)}\left[1-\theta\,s^{2\eta}\right]^{\Theta\lambda}\left[\frac{1}{s^{5}}B(\Im)B\left(e_{\eta,(1-\lambda)(1-\sigma),\theta}^{-\Theta(1-\lambda)}(\xi)\right) - s^{3}\left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta(1-\lambda)}\Im_{\xi=0^{+}}\right)\right] \\ &= s^{2\lambda(1-\sigma)}\left[1-\theta\,s^{2\eta}\right]^{\Theta\lambda}\left[\frac{1}{s^{5}}B(\Im)s^{2(1-\lambda)(1-\sigma)+3}\left[1-\theta\,s^{2\eta}\right]^{\Theta(1-\lambda)} - s^{3}\left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta(1-\lambda)}\Im_{\xi=0^{+}}\right)\right] \\ &= s^{2\lambda(1-\sigma)}\left[1-\theta\,s^{2\eta}\right]^{\Theta\lambda}\left[\frac{1}{s^{5}}B(\Im)s^{2(1-\lambda)(1-\sigma)+3}\left[1-\theta\,s^{2\eta}\right]^{\Theta(1-\lambda)} - s^{3}\left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta(1-\lambda)}\Im_{\xi=0^{+}}\right)\right] \\ &= s^{2\lambda(1-\sigma)}\left[1-\theta\,s^{2\eta}\right]^{\Theta\lambda}\left[\frac{1}{s^{5}}B(\Im)s^{2(1-\lambda)(1-\sigma)+3}\left[1-\theta\,s^{2\eta}\right]^{\Theta(1-\lambda)} - s^{3}\left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta(1-\lambda)}\Im_{\xi=0^{+}}\right] \\ &= s^{2\lambda(1-\sigma)}\left[1-\theta\,s^{2\eta}\right]^{\Theta\lambda}\left[\frac{1}{s^{5}}B(\Im)s^{2(1-\lambda)(1-\sigma)+3}\left[1-\theta\,s^{2\eta}\right]^{\Theta(1-\lambda)} - s^{3}\left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta(1-\lambda)}\Im_{\xi=0^{+}}\right] \\ &= s^{2\lambda(1-\sigma)}\left[1-\theta\,s^{2\eta}\right]^{\Theta\lambda}\left[\frac{1}{s^{5}}B(\Im)s^{2(1-\lambda)(1-\sigma)+3}\left[1-\theta\,s^{2\eta}\right]^{\Theta(1-\lambda)} - s^{3}\left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta}\Im_{\xi=0^{+}}\right] \\ &= s^{2\lambda(1-\sigma)}\left[1-\theta\,s^{2\eta}\right]^{\Theta\lambda}\left[\frac{1}{s^{5}}B(\Im)s^{2(1-\lambda)(1-\sigma)+3}\left[1-\theta\,s^{2\eta}\right]^{\Theta(1-\lambda)} - s^{3}\left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta}\Im_{\xi=0^{+}}^{-\Theta}\right] \\ &= s^{2\lambda(1-\sigma)}\left[1-\theta\,s^{2\eta}\right]^{\Theta\lambda}\left[\frac{1}{s^{5}}B(\Im)s^{2(1-\lambda)(1-\sigma)+3}\left[1-\theta\,s^{2\eta}\right]^{\Theta(1-\lambda)} - s^{3}\left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta}\Im_{\xi=0^{+}}^{-\Theta}\right] \\ &= s^{2\lambda(1-\sigma)}\left[1-\theta\,s^{2\eta}\right]^{\Theta\lambda}\left[\frac{1}{s^{5}}B(\Im)s^{2(1-\lambda)(1-\sigma)+3}\left[1-\theta\,s^{2\eta}\right]^{\Theta(1-\lambda)} - s^{3}\left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta}\Im_{\xi=0^{+}}^{-\Theta}\right] \\ &= s^{2\lambda(1-\sigma)}\left[1-\theta\,s^{2\eta}\right]^{\Theta\lambda}\left[\frac{1}{s^{5}}B(\Im)s^{2(1-\lambda)(1-\sigma)+3}\left[1-\theta\,s^{2\eta}\right]^{\Theta\lambda}\left[\frac{1}{s^{5}}B(\Im)s^{2(1-\lambda)(1-\sigma)+3}\left[1-\theta\,s^{2\eta}\right]^{\Theta\lambda}\right]$$

After simplification, we obtain:

$$B\left(D_{\eta,\theta,0^{+}}^{\Theta,\sigma,\lambda}\mathfrak{S}(\xi)\right) = s^{-2\sigma} \left[1 - \theta \, s^{2\eta}\right]^{\Theta} B[\mathfrak{S}](s) - s^{2\lambda(1-\sigma)+3} \left[1 - \theta \, s^{2\eta}\right]^{\Theta\lambda} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta(1-\lambda)}\mathfrak{S}\right)_{\xi=0^{-2\sigma}}$$

Lemma 3. The KT transform of the regularized version of the HP fractional derivative of order σ is computed as:

$$B\left({}^{C}D_{\eta,\theta,0^{+}}^{\Theta,\sigma}\Im\right)(s) = \left[1 - \theta \, s^{2\eta}\right]^{\Theta} \left[s^{-2\sigma}B[\Im(\xi)](s) - s^{5-2\sigma}\Im(0^{+})\right]. \tag{25}$$

Proof. The regularized version of the HPFD of order σ is given by:

$${}^{C}D^{\Theta,\sigma}_{\eta,\theta,0^{+}}\Im(\xi) = \left(E^{-\Theta\lambda}_{\eta,\lambda(1-\sigma),\theta,0^{+}}E^{-\Theta(1-\lambda)}_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}\frac{d}{d\xi}\Im\right)(\xi).$$
(26)

Using Equation (17), Equation (26) is simplified as:

$${}^{C}D^{\Theta,\sigma}_{\eta,\theta,0^{+}}\Im(\xi) = \left(E^{-\Theta}_{\eta,1-\sigma,\theta,0^{+}}\frac{d}{d\xi}\Im\right)(\xi).$$
⁽²⁷⁾

Using the formula of the Prabhakar integral and exerting the KT transform on Equation (27), we obtain:

$$B\left({}^{C}D_{\eta,\theta,0^{+}}^{\Theta,\sigma}\Im\right)(s,u) = B\left(\frac{d}{d\xi}\Im * e_{\eta,1-\sigma,\theta}^{-\Theta}(\xi)\right)(s).$$
⁽²⁸⁾

In view of the convolution theorem of the KT transform, Equation (28) is transformed as:

$$B\left({}^{C}D_{\eta,\theta,0^{+}}^{\Theta,\sigma}\Im\right)(s) = \frac{1}{s^{3}}B\left(\frac{d}{d\xi}\Im\right)(s)B\left(e_{\eta,1-\sigma,\theta}^{-\Theta}(\xi)\right)(s).$$
(29)

With the help of Equation (4) and Lemma 1, Equation (29) reduces to:

$$\begin{split} B\Big({}^{\mathbb{C}}D^{\Theta,\sigma}_{\eta,\theta,0^+}\Im\Big)(s) &= \frac{1}{s^3}s^{2(1-\sigma)+3}\big[1-\theta\,s^{2\eta}\big]^{\Theta}\Big[\frac{1}{s^2}B[\Im(\xi)](s)-s^3\Im(0^+)\Big]\\ &= \big[1-\theta\,s^{2\eta}\big]^{\Theta}\big[s^{-2\sigma}B[\Im(\xi)](s)-s^{5-2\sigma}\Im(0^+)\big]. \end{split}$$

This completes the proof. \Box

4. Cauchy Problems via the HP Fractional Derivative and KT Transform

This section presents the solution of some Cauchy problems modeled with the HP fractional derivative with the help of KT and FT methods.

Theorem 5. *The solution of the Cauchy problem* [6] *modeled with the HP derivative:*

$$\begin{cases} D_{\eta,\theta,0^{+}}^{\Theta,\sigma,\lambda}\Im(\xi) = \vartheta E_{\eta,\sigma,\theta,0^{+}}^{\delta}\Im(\xi) + \wp(\xi) ,\\ \left[E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta(1-\lambda)}\Im(\xi) \right]_{\xi=0^{+}} = M, \ M \ge 0, \end{cases}$$
(30)

where $\xi \in (0, \infty)$, $\wp(\xi) \in L^1[0, \infty)$, $\sigma \in (0, 1)$, $\lambda \in [0, 1]$, $\vartheta, \theta \in \mathbb{R}$, $\xi, \eta > 0$, and $\Theta, \delta \ge 0$ is given by:

$$\Im(\xi) = M \sum_{m=0}^{\infty} \vartheta^m \xi^{\lambda(1-\sigma)+\sigma(1+2m)-1} E_{\eta,\lambda(1-\sigma)+\sigma(1+2m)}^{\Theta(1-\lambda)+(\delta+\Theta)m}(\theta\xi^\eta) + \sum_{m=0}^{\infty} \vartheta^m E_{\eta,(1+2m)\sigma,\theta,0+}^{\Theta(m+1)+\delta m}(\xi).$$
(31)

Proof. Exerting the KT transform on both sides of Equation (30), we have:

$$B\left(D_{\eta,\theta,0^{+}}^{\Theta,\sigma,\lambda}\Im(\xi)\right) = \vartheta B\left(E_{\eta,\sigma,\theta,0^{+}}^{\delta}\Im(\xi)\right) + B[\wp(\xi)].$$
(32)

Now, using Lemma 2, Equation (13), the convolution theorem of the KT transform and Lemma 1, Equation (32) reduces to:

$$s^{-2\sigma} \begin{bmatrix} 1 - \theta \, s^{2\eta} \end{bmatrix}^{\Theta} B[\mathfrak{F}](s) - s^{2\lambda(1-\sigma)+3} \begin{bmatrix} 1 - \theta \, s^{2\eta} \end{bmatrix}^{\Theta\lambda} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta(1-\lambda)} \mathfrak{F}_{\xi=0^{+}} \right)$$

$$= \vartheta \, B\left[\left(\mathfrak{F} * e_{\eta,\sigma,\theta}^{\delta} \right)(\xi) \right](s) + B[\wp(\xi)](s)$$

$$= \vartheta \, \frac{1}{s^{3}} B(\mathfrak{F})(s) B\left(e_{\eta,\sigma,\theta}^{\delta}(\xi) \right)(s) + B[\wp(\xi)](s)$$

$$= \vartheta \, B(\mathfrak{F})(s) s^{2\sigma} \begin{bmatrix} 1 - \theta \, s^{2\eta} \end{bmatrix}^{-\delta} + B[\wp(\xi)](s).$$
(33)

After rearrangement of the terms, we have:

$$B[\Im](s) = \frac{s^{2\lambda(1-\sigma)+3}[1-\theta s^{2\eta}]^{\Theta\lambda} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^+}^{-\Theta(1-\lambda)}\Im\right)_{\xi=0^+} + B[\wp(\xi)](s)}{s^{-2\sigma}[1-\theta s^{2\eta}]^{\Theta} - \theta s^{2\sigma}[1-\theta s^{2\eta}]^{-\delta}} \\ = \frac{s^{2\lambda(1-\sigma)+3}[1-\theta s^{2\eta}]^{\Theta\lambda} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^+}^{-\Theta(1-\lambda)}\Im\right)_{\xi=0^+} + B[\wp(\xi)](s)}{s^{-2\sigma}[1-\theta s^{2\eta}]^{\Theta} \left\{1-\theta s^{4\sigma}[1-\theta s^{2\eta}]^{-(\delta+\Theta)}\right\}} \\ = \frac{s^{2[\lambda(1-\sigma)+\sigma]+3}[1-\theta s^{2\eta}]^{-\Theta(1-\lambda)} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^+}^{-\Theta(1-\lambda)}\Im\right)_{\xi=0^+} + s^{2\sigma}[1-\theta s^{2\eta}]^{-\Theta}B[\wp(\xi)](s)}{\left\{1-\theta s^{4\sigma}[1-\theta s^{2\eta}]^{-(\delta+\Theta)}\right\}} \\ = \left(s^{2[\lambda(1-\sigma)+\sigma]+3}[1-\theta s^{2\eta}]^{-\Theta(1-\lambda)}M + s^{2\sigma}[1-\theta s^{2\eta}]^{-\Theta}B[\wp(\xi)](s)\right) \times \sum_{m=0}^{\infty} s^{4\sigma m}\vartheta^m [1-\theta s^{2\eta}]^{-m(\delta+\Theta)} \\ = M\sum_{m=0}^{\infty} \vartheta^m s^{2[\lambda(1-\sigma)+\sigma(1+2m)]+3}[1-\theta s^{2\eta}]^{-[m(\delta+\Theta)+\Theta(1-\lambda)]} \\ + \sum_{m=0}^{\infty} \vartheta^m s^{2\sigma(1+2m)}[1-\theta s^{2\eta}]^{-[\Theta(m+1)+\delta m]}B[\wp](s).$$
(34)

Applying the inverse KT transform operator B^{-1} on both sides of Equation (34) and applying Lemma 1, we have:

$$\Im(\xi) = M \sum_{m=0}^{\infty} \vartheta^m e_{\eta,\lambda(1-\sigma)+(1+2m)\sigma,\theta}^{m(\delta+\Theta)+\Theta(1-\lambda)}(\xi) + \sum_{m=0}^{\infty} \vartheta^m B^{-1} \Big(\frac{1}{s^3} B[\wp] (s) s^{2\sigma(1+2m)+3} \big[1-\theta s^{2\eta} \big]^{-[\Theta(m+1)+\delta m]} \Big).$$
(35)

On account of the convolution theorem of the KT transform and Lemma 1 in Equation (36), we obtain:

$$\Im(\xi) = M \sum_{m=0}^{\infty} \vartheta^m e_{\eta,\lambda(1-\sigma)+(1+2m)\sigma,\theta}^{m(\delta+\Theta)+\Theta(1-\lambda)}(\xi) + \sum_{m=0}^{\infty} \vartheta^m \times \wp * B^{-1} \left(s^{2\sigma(1+2m)+3} \left[1 - \theta s^{2\eta} \right]^{-[\Theta(m+1)+\delta m]} \right)$$

$$= M \sum_{m=0}^{\infty} \vartheta^m e_{\eta,\lambda(1-\sigma)+(1+2m)\sigma,\theta}^{m(\delta+\Theta)+\Theta(1-\lambda)}(\xi) + \sum_{m=0}^{\infty} \vartheta^m \left(\wp * e_{\eta,(1+2m)\sigma,\theta}^{\Theta(m+1)+\delta m} \right)(\xi).$$
(36)

Using Equations (13) and (14) in Equation (36), we obtain:

$$\Im(\xi) = M \sum_{m=0}^{\infty} \vartheta^m \xi^{\lambda(1-\sigma)+(1+2m)\sigma-1} E_{\eta,\lambda(1-\sigma)+(1+2m)\sigma}^{m(\delta+\Theta)+\Theta(1-\lambda)}(\theta\xi^{\eta}) + \sum_{m=0}^{\infty} \vartheta^m E_{\eta,(1+2m)\sigma,\theta,0+}^{\Theta(m+1)+\delta m} \wp(\xi).$$

,

Remark 1. For $\vartheta = -ip\beta$, $\wp(\xi) = 0$, $\Theta = \lambda = 0$, $\eta = \delta = 1$, $\theta = i\alpha$, $p, \alpha \in R$, $\xi \in (0, 1]$, the above Cauchy problem transforms to the following FEL equation [17]

$$\begin{cases} \frac{d\Im}{d\xi} = -ip\beta \int_0^{\xi} (\xi - \tau) e^{i\alpha(\xi - \tau)} \Im(\tau) d\tau, \\ \Im(0) = 1. \end{cases}$$
(37)

Theorem 6. The solution of the Cauchy problem [7] modeled with the HP derivative:

$$\begin{cases} {}^{C}D_{\eta,-\theta,0^{+}}^{\Theta,\sigma}\Pi(\zeta,\xi) = -\vartheta(1-\zeta)\Pi(\zeta,\xi), \ |\zeta| \le 1\\ \Pi(\zeta,0^{+}) = 1, \end{cases}$$
(38)

with $\xi > 0$, $\vartheta > 0$, $\Theta \ge 0$, $\eta \in (0, 1]$, $\sigma \in (0, 1]$, $\vartheta, \theta \in R$, $\zeta, \eta > 0$, and $\Theta, \delta \ge 0$ is given by

$$\Pi(\zeta,\xi) = \sum_{m=0}^{\infty} \left(-\vartheta\right)^m (1-\zeta)^m \xi^{m\sigma} E_{\eta,m\sigma+1}^{m\Theta} (-\theta\xi^{\eta}).$$
(39)

Proof. Taking the KT transform of Equation (38) with respect to ξ and using initial condition $\Pi(\zeta, 0) = 1$ and Lemma 3, we obtain:

$$\begin{split} &B\Big({}^CD^{\Theta,\sigma}_{\eta,-\theta,0^+}\Pi(\zeta,\xi)\Big)=-\vartheta(1-\zeta)B(\Pi(\zeta,\xi))(\zeta,s)\\ &s^{-2\sigma}\big[1+\theta\,s^{2\eta}\big]^{\Theta}B[\Pi(\zeta,\xi)]\;(\zeta,s)-s^{5-2\sigma}\big[1+\theta\,s^{2\eta}\big]^{\Theta}\Pi(\zeta,0^+)=-\vartheta(1-\zeta)B[\Pi(\zeta,\xi)]. \end{split}$$

After rearranging the terms, we obtain:

$$B[\Pi(\zeta,\xi)] (\zeta,s) = \frac{s^{5-2\sigma} [1+\theta s^{2\eta}]^{\Theta}}{s^{-2\sigma} [1+\theta s^{2\eta}]^{\Theta} + \theta(1-\zeta)} = \frac{s^{5}}{\left[1 + \frac{\theta(1-\zeta)}{s^{-2\sigma} [1+\theta s^{2\eta}]^{\Theta}}\right]}$$
(40)
$$B[\Pi(\zeta,\xi)] (\zeta,s) = \sum_{m=0}^{\infty} (-\vartheta)^{m} (1-\zeta)^{m} s^{2m\sigma+5} [1+\theta s^{2\eta}]^{-m\Theta}.$$

Applying the inverse KT transform operator B^{-1} on Equation (40) and utilizing Lemma 1 and Equation (14), we have:

$$\Pi(\zeta,\xi) = \sum_{m=0}^{\infty} (-\vartheta)^m (1-\zeta)^m B^{-1} \left(s^{2(m\sigma+1)+3} \left[1+\theta s^{2\eta} \right]^{-m\Theta} \right)$$
$$= \sum_{m=0}^{\infty} (-\vartheta)^m (1-\zeta)^m e_{\eta,m\sigma+1,-\theta}^{m\Theta}(\zeta,\xi)$$
$$= \sum_{m=0}^{\infty} (-\vartheta)^m (1-\zeta)^m \xi^{m\sigma} E_{\eta,m\sigma+1}^{m\Theta}(-\theta\xi^{\eta}).$$

Theorem 7. The solution of the Cauchy problem [6] modeled with the HP derivative:

$$\begin{cases} D_{\eta,\theta,0^{+}}^{\Theta,\sigma,\lambda}\Pi(\zeta,\xi) = T\frac{\partial^{2}}{\partial\zeta^{2}}\Pi(\zeta,\xi),\\ \left[E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta(1-\lambda)}\Pi(\zeta,\xi)\right]_{\xi=0^{+}} = \psi(\zeta),\\ \lim_{\zeta \to \pm \infty}\Pi(\zeta,\xi) = 0, \end{cases}$$
(41)

with $\sigma \in (0, 1)$, $\lambda \in [0, 1]$, $\zeta, \theta \in R$, $\xi, T, \eta > 0$, and $\Theta \ge 0$ is given by

$$\Pi(\zeta,\xi) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{ip\zeta} \hat{\psi}(p) dp \sum_{m=0}^{\infty} \left(-Tp^2\right)^m \xi^{\lambda(1-\sigma)+\sigma(m+1)-1} E_{\eta,\lambda(1-\sigma)+\sigma(m+1)}^{\Theta[m+(1-\lambda)]}(\theta\xi^{\eta}).$$
(42)

Proof. Let $\overline{\Pi}(\zeta, s)$ and $\Pi(p, \xi)$ denote the KT and Fourier transforms of $\Pi(\zeta, \xi)$, respectively. Furthermore, let $\widehat{\Pi}(p, s)$ and $\widehat{\psi}(p)$ denote the Fourier-KT transform and Fourier transform of $\Pi(\zeta, \xi)$ and $\psi(\zeta)$, respectively.

Employing Fourier-KT transform of Equation (41) and using Lemma 2, we have:

$$s^{-2\sigma} \Big[1 - \theta \, s^{2\eta} \Big]^{\Theta} \hat{\overline{\Pi}}(p,s) - s^{2\lambda(1-\sigma)+3} \Big[1 - \theta \, s^{2\eta} \Big]^{\Theta} \hat{\psi}(p) = -Tp^2 \hat{\overline{\Pi}}(p,s).$$
(43)

On simplification, we obtain:

$$\hat{\overline{\Pi}}(p,s) = \frac{s^{2\lambda(1-\sigma)+3}[1-\theta s^{2\eta}]^{\Theta_{\lambda}}\hat{\psi}(p)}{s^{-2\sigma}[1-\theta s^{2\eta}]^{\Theta}+Tp^{2}} \\
= \frac{s^{2\lambda(1-\sigma)+2\sigma+3}[1-\theta s^{2\eta}]^{-(1-\lambda)\Theta}\hat{\psi}(p)}{1+\frac{Tp^{2}}{s^{-2\sigma}[1-\theta s^{2\eta}]^{\Theta}}} \\
= \sum_{m=0}^{\infty} (-Tp^{2})^{m} \hat{\psi}(p)s^{2[\lambda(1-\sigma)+(m+1)\sigma]+3}[1-\theta s^{2\eta}]^{-\Theta[(1-\lambda)+m]}.$$
(44)

Inverting Fourier transform in Equation (44), we obtain:

$$\overline{\Pi}(\zeta,s) = \sum_{m=0}^{\infty} \frac{1}{2\pi} \int_{-\infty}^{\infty} \left(-Tp^2\right)^m e^{ip\zeta} \hat{\psi}(p) \, dp \, s^{2[\lambda(1-\sigma)+(m+1)\sigma]+3} \Big[1-\theta \, s^{2\eta}\Big]^{-\Theta[(1-\lambda)+m]}.$$
(45)

Applying the inverse KT transform on Equation (45) and using Lemma 1 and Equation (14), we obtain:

$$\Pi(\zeta,\xi) = \sum_{m=0}^{\infty} \frac{1}{2\pi} \int_{-\infty}^{\infty} (-Tp^2)^m e^{ip\zeta} \hat{\psi}(p) dp \, e^{\Theta[(1-\lambda)+m]}_{\eta,\lambda(1-\sigma)+(m+1)\sigma,\theta}(\zeta,\xi)$$
$$= \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{ip\zeta} \hat{\psi}(p) dp \sum_{m=0}^{\infty} (-T)^m p^{2m} \xi^{\lambda(1-\sigma)+(m+1)\sigma-1} E^{\Theta[(1-\lambda)+m]}_{\eta,\lambda(1-\sigma)+(m+1)\sigma}(\theta\xi^{\eta}).$$

Theorem 8. *The solution of the Cauchy problem* [6] *modeled with the regularized version of the HP derivative:*

$$\begin{cases} {}^{C}D_{\eta,\theta,0^{+}}^{\Theta,\sigma}\Pi(\zeta,\xi) = T\frac{\partial^{2}}{\partial\zeta^{2}}\Pi(\zeta,\xi), \ \xi > 0, \ \zeta \in R,\\ [\Pi(\zeta,0^{+})]_{\xi=0^{+}} = \psi(\zeta),\\ \lim_{\zeta \to \pm \infty}\Pi(\zeta,\xi) = 0, \end{cases}$$
(46)

with $\sigma \in (0, 1)$, $\lambda \in [0, 1]$, $\zeta, \theta \in R$, $T, \eta > 0$, and $\Theta \ge 0$ is given by:

$$\Pi(\zeta,\xi) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{ip\zeta} \hat{\psi}(p) dp \sum_{m=0}^{\infty} \left(-Tp^2\right)^m \xi^{m\sigma} E_{\eta,m\sigma+1}^{m\Theta}(\theta\xi^{\eta}).$$
(47)

Proof. Let $\overline{\Pi}(\zeta, s)$ and $\Pi(p, \xi)$ denote the KT and Fourier transforms of $\Pi(\zeta, \xi)$, respectively. Furthermore, let $\widehat{\Pi}(p, s)$ and $\widehat{\psi}(p)$ denote the Fourier-KT transform and Fourier transform of $\Pi(\zeta, \xi)$ and $\psi(\zeta)$, respectively.

Taking the Fourier-KT transform of Equation (46) and applying Lemma 3, we have:

$$\left[1-\theta s^{2\eta}\right]^{\Theta}s^{-2\sigma}\overline{\Pi}(p,s) - \left[1-\theta s^{2\eta}\right]^{\Theta}s^{5-2\sigma}\psi(p) = -Tp^{2}\overline{\Pi}(p,s).$$

After simplification, we obtain:

$$\hat{\overline{\Pi}}(p,s) = \frac{[1-\theta s^{2\eta}]^{\Theta} s^{5-2\sigma} \psi(p)}{[1-\theta s^{2\eta}]^{\Theta} s^{-2\sigma} + Tp^{2}}
= \frac{s^{5} \psi(p)}{1+\frac{Tp^{2}}{[1-\theta s^{2\eta}]^{\Theta} s^{-2\sigma}}}
= \hat{\psi}(p) \sum_{m=0}^{\infty} (-Tp^{2})^{m} s^{2\sigma m+5} [1-\theta s^{2\eta}]^{-m\Theta}$$
(48)

Inverting the Fourier transform in Equation (48), we obtain:

$$\overline{\Pi}(\zeta,s) = \sum_{m=0}^{\infty} \frac{1}{2\pi} \int_{-\infty}^{\infty} \left(-Tp^2\right)^m e^{ip\zeta} \hat{\psi}(p) dp \, s^{2(m\sigma+1)+3} \left[1-\theta \, s^{2\eta}\right]^{-m\Theta}.$$
(49)

Applying the inverse KT transform on Equation (45) and using Lemma 1 and Equation (14), we obtain:

$$\Pi(\zeta,\xi) = \sum_{m=0}^{\infty} \frac{1}{2\pi} \int_{-\infty}^{\infty} (-Tp^2)^m e^{ip\zeta} \hat{\psi}(p) dp \ e^{m\Theta}_{\eta,m\sigma+1,\theta}(\xi)$$
$$= \sum_{m=0}^{\infty} \frac{1}{2\pi} \int_{-\infty}^{\infty} (-Tp^2)^m e^{ip\zeta} \hat{\psi}(p) dp \ \xi^{m\sigma} E^{m\Theta}_{\eta,m\sigma+1}(\theta\xi^{\eta})$$
$$= \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{ip\zeta} \hat{\psi}(p) dp \sum_{m=0}^{\infty} (-Tp^2)^m \xi^{m\sigma} E^{m\Theta}_{\eta,m\sigma+1}(\theta\xi^{\eta}).$$

The results of Theorems 5–8 are exactly the same as the solutions reported by Panchal et al. [7].

5. Analytical Solution of Diffusion Equations with the HPFD in 1D and 2D Spaces

In this section, the fractional diffusion equations in 1D and 2D spaces are investigated.

The diffusion equation discussed in the works of Hristov [11] is reported as:

$$\frac{\partial \Im(u,\xi)}{\partial \xi} = k^2 \frac{\partial^2 \Im(u,\xi)}{\partial u^2},$$

where $k^2 = \frac{H}{\Phi C_q}$, H is the thermal conductivity, Φ is the specific heat, C_q is the density of material, and \Im is the temperature distribution of the material.

The 1D fractional diffusion equation discussed in refs. [10,12] modeled with the HP derivative is given as:

$$D_{\eta,\theta,0^{+}}^{\Theta,\sigma,\lambda}\Im(u,\xi) = k^{2} \frac{\partial^{2}\Im(u,\xi)}{\partial u^{2}},$$

where $\Theta, \theta \in R, \eta > 0, k^2$ denotes the diffusion coefficient, $D_{\eta,\theta,0^+}^{\Theta,\sigma,\lambda}$ specifies the HP fractional derivative operator defined in Definition 11, and $E_{\eta,0,\theta,0^+}^0 \Im = \Im$.

Here, Equation (51) is equipped with the following Dirichlet boundary conditions:

- $\Im(u, 0) = 0$, when u > 0;
- $\Im(0,\xi) = 1$, when $\xi > 0$.

In the 2D space, the fractional diffusion equation [12] with the HP derivative is given by:

$$D_{\eta,\theta,0^+}^{\Theta,\sigma,\lambda}\Im(u,v,\xi) = k^2 \left\{ \frac{\partial^2\Im(u,v,\xi)}{\partial u^2} + \frac{\partial^2\Im(u,v,\xi)}{\partial v^2} \right\}$$

with Dirichlet boundary conditions:

- $\Im(u, v, 0) = 0$, when u > 0, v > 0;
- $\Im(0, v, \xi) = \Im(u, 0, \xi) = 1$, when $\xi > 0$.

The Dirichlet boundary conditions are very helpful in the context of an integral method. The form of analytical solutions is governed by the boundary conditions. This section presents the integral method consisting of the KT transform and Fourier sine transform to explore the solutions for diffusion equations with the HP fractional derivative.

Model I: Diffusion equation with the HPFD in 1D space

The HP fractional diffusion equation in 1D space is given as:

$$D_{\eta,\theta,0^{+}}^{\Theta,\sigma,\lambda}\Im(u,\xi) = k^2 \frac{\partial^2\Im(u,\xi)}{\partial u^2}$$
(50)

subjected to Dirichlet boundary conditions:

$$\begin{cases} \Im(u,0) = 0, \ u > 0\\ \Im(0,\xi) = 1, \ \xi > 0\\ \lim_{u \to \pm \infty} \Im(u,\xi) = 0. \end{cases}$$
(51)

Now, employing the Fourier sine transform on Equation (50), multiplying by $\frac{2}{\pi} \sin \mu u$, and integrating it within the range of 0 to ∞ with respect to u, we obtain:

$$D_{\eta,\theta,0^{+}}^{\Theta,\sigma,\lambda}\widehat{\mathfrak{S}}_{fst}(\mu,\,\xi) = k^{2} \left\{ \frac{2}{\pi}\mu\mathfrak{S}(0,\xi) - \mu^{2}\widehat{\mathfrak{S}}_{fst}(\mu,\xi) \right\}$$
$$= \frac{2k^{2}\mu}{\pi} - k^{2}\mu^{2}\widehat{\mathfrak{S}}_{fst}(\mu,\xi),$$
(52)

where $\Im_{fst}(\mu, \xi)$ denotes the Fourier sine transform of $\Im(u, \xi)$.

After rearrangement of the terms in Equation (52), we obtain the following FDE:

$$D_{\eta,\theta,0^+}^{\Theta,\sigma,\lambda}\widehat{\mathfrak{S}}_{fst}(\mu,\,\xi) + k^2\mu^2\widehat{\mathfrak{S}}_{fst}(\mu,\xi) = \frac{2k^2\mu}{\pi}.$$
(53)

Applying the KT transform on both sides of Equation (53), we obtain:

$$B\left(D_{\eta,\theta,0^+}^{\Theta,\sigma,\lambda}\widehat{\mathfrak{S}}_{fst}(\mu,\,\xi)\right) + k^2\mu^2\overline{\mathfrak{S}}_{fst}(\mu,s) = \frac{2k^2\mu}{\pi}s^5.$$
(54)

Using Lemma 2, Equation (54) transforms into the following:

$$s^{-2\sigma}(1-\theta s^{2\eta}) \stackrel{\Theta}{\to} \stackrel{S}{f_{st}}(\mu,s) = s^{2\lambda(1-\sigma)+3}(1-\theta s^{2\eta}) \stackrel{\Theta}{\to} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}} \stackrel{S}{\to} f_{st}(\mu,\xi)\right)_{\xi=0^{+}} + k^{2}\mu^{2} \stackrel{S}{\to} \stackrel{S}{s_{t}}(\mu,s) = \frac{2k^{2}\mu}{\pi} s^{5} \\ \stackrel{S}{\to} \stackrel{S}{\to} \frac{s^{2\lambda(1-\sigma)+3}(1-\theta s^{2\eta}) \stackrel{\Theta}{\to} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}} \stackrel{S}{\to} f_{st}(\mu,\xi)\right)_{\xi=0^{+}} + \frac{2k^{2}\mu}{\pi} s^{5} \\ \stackrel{S}{\to} \stackrel{S}{\to} \stackrel{S}{s_{t}}(\mu,s) = \frac{s^{2\lambda(1-\sigma)+3}(1-\theta s^{2\eta}) \stackrel{\Theta}{\to} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}} \stackrel{S}{\to} f_{st}(\mu,\xi)\right)_{\xi=0^{+}} + \frac{2k^{2}\mu}{\pi} s^{5} \\ \stackrel{S}{\to} \stackrel{S}{s_{t}}(\mu,s) = s^{2\lambda(1-\sigma)+3}(1-\theta s^{2\eta}) \stackrel{\Theta}{\to} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}} \stackrel{S}{\to} f_{st}(\mu,\xi)\right)_{\xi=0^{+}} + \frac{2k^{2}\mu}{\pi} s^{2} \\ \stackrel{S}{\to} \stackrel{S}{s_{t}}(\mu,s) = s^{2\lambda(1-\sigma)+\sigma}]^{+3}(1-\theta s^{2\eta}) \stackrel{-(1-\lambda)\Theta}{\to} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}} \stackrel{S}{\to} s_{t}(\mu,\xi)\right)_{\xi=0^{+}} \left[1 + \frac{k^{2}\mu^{2}}{s^{-2\sigma}(1-\theta s^{2\eta})^{\Theta}}\right]^{-1} \\ \stackrel{S}{\to} \stackrel{S}{s_{t}}(\mu,s) = s^{2\lambda(1-\sigma)+\sigma}]^{+3}(1-\theta s^{2\eta}) \stackrel{-(1-\lambda)\Theta}{\to} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}} \stackrel{S}{\to} s_{t}(\mu,\xi)\right)_{\xi=0^{+}} \\ \stackrel{S}{\to} \stackrel{S}{s_{t}}(\mu,s) = s^{2\lambda(1-\sigma)+\sigma}]^{+3}(1-\theta s^{2\eta}) \stackrel{-(1-\lambda)\Theta}{\to} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}} \stackrel{S}{\to} s_{t}(\mu,\xi)\right)_{\xi=0^{+}} \\ \stackrel{S}{\to} \stackrel{S}{s_{t}}(\mu,s) = s^{2\lambda(1-\sigma)+\sigma}]^{+3}(1-\theta s^{2\eta}) \stackrel{-\Theta}{\to} (-1)^{m}k^{2m}\mu^{2m}s^{2\sigma m}(1-\theta s^{2\eta}) \stackrel{-m\Theta}{\to} \\ \stackrel{S}{\to} \stackrel{S}{s_{t}}(\mu,s) = s^{2\lambda(1-\sigma)+\sigma}]^{+3}(1-\theta s^{2\eta}) \stackrel{-\Theta}{\to} \stackrel{S}{m=0} (-1)^{m}k^{2m}\mu^{2m}s^{2\sigma m}(1-\theta s^{2\eta}) \stackrel{-m\Theta}{\to} \\ \stackrel{S}{\to} \stackrel{S}{m=0} (-1)^{m}k^{2m}\mu^{2m}s^{2(\lambda(1-\sigma)+\sigma(m+1)}]^{+3}(1-\theta s^{2\eta}) \stackrel{-((m+1)-\lambda)\Theta}{\to} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}} \stackrel{S}{\to} f_{s}}(\mu,\xi)\right)_{\xi=0^{+}} \\ \stackrel{S}{\to} \stackrel{S}{m=0} (-1)^{m}k^{2(m+1)}\mu^{2m+1}s^{2(\sigma(m+1)+1)+1}(1-\theta s^{2\eta}) \stackrel{-((m+1)-\lambda)\Theta}{\to} (s^{-2(m+1)\Theta}, (s^{-2(m+1)\Theta})$$

where $\Im_{fst}(\mu, s)$ denotes the KT transform of $\Im_{fst}(\mu, \xi)$. Now, applying the inverse of the KT transform on both sides of Equation (55) and using Lemma 1 and Equation (14), we obtain:

$$\hat{\Im}_{fst}(\mu,\,\xi) = \sum_{m=0}^{\infty} (-1)^m k^{2m} \mu^{2m} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^+}^{-\Theta(1-\lambda)} \hat{\Im}_{fst}(\mu,\,\xi) \right)_{\xi=0^+} e_{\eta,\lambda(1-\sigma)+\sigma(m+1),\theta}^{[(m+1)-\lambda]\Theta}(\xi) + \frac{2}{\pi} \sum_{m=0}^{\infty} (-1)^m k^{2(m+1)} \mu^{2m+1} e_{\eta,\sigma(m+1)+1,\theta}^{(m+1)\Theta}(\xi) \hat{\Im}_{fst}(\mu,\,\xi) = \sum_{m=0}^{\infty} (-1)^m k^{2m} \mu^{2m} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^+}^{-\Theta(1-\lambda)} \hat{\Im}_{fst}(\mu,\,\xi) \right)_{\xi=0^+} \xi^{\lambda(1-\sigma)+\sigma(m+1)-1} E_{\eta,\lambda(1-\sigma)+\sigma(m+1)}^{[(m+1)-\lambda]\Theta}(\theta\xi^{\eta}) + \frac{2}{\pi} \sum_{m=0}^{\infty} (-1)^m k^{2(m+1)} \mu^{2m+1} \xi^{\sigma(m+1)} E_{\eta,\sigma(m+1)+1}^{(m+1)\Theta}(\theta\xi^{\eta}).$$
(56)

Applying the inverse of the Fourier sine transform on both sides of Equation (56), we obtain:

$$\Im(u,\xi) = \frac{2}{\pi} \int_{0}^{\infty} \sin \mu u$$

$$\times \left(\sum_{m=0}^{\infty} (-1)^{m} k^{2m} \mu^{2m} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^{+}}^{-\Theta(1-\lambda)} \Im_{fst}(\mu,\xi) \right)_{\xi=0^{+}} \xi^{\lambda(1-\sigma)+\sigma(m+1)-1} E_{\eta,\lambda(1-\sigma)+\sigma(m+1)}^{[(m+1)-\lambda]\Theta}(\theta\xi^{\eta}) \right) d\mu$$

$$+ \frac{4}{\pi^{2}} \int_{0}^{\infty} \sin \mu u \left(\sum_{m=0}^{\infty} (-1)^{m} k^{2(m+1)} \mu^{2m+1} \xi^{\sigma(m+1)} E_{\eta,\sigma(m+1)+1}^{(m+1)\Theta}(\theta\xi^{\eta}) \right) d\mu.$$
(57)

This is the complete analytical solution of the HP fractional diffusion Equation (50). **Model II: Diffusion equation with the HP fractional derivative in 2D space** The HP fractional diffusion equation in 2D space is illustrated as:

$$D_{\eta,\theta,0^{+}}^{\Theta,\sigma,\lambda}\Im(u,v,\xi) = k^2 \left\{ \frac{\partial^2\Im(u,v,\xi)}{\partial u^2} + \frac{\partial^2\Im(u,v,\xi)}{\partial v^2} \right\}$$
(58)

subjected to Dirichlet boundary conditions:

 $\begin{cases} \Im(u, v, 0) = 0, \ u > 0, v > 0\\ \Im(0, v, \xi) = \Im(u, 0, \xi) = 1, \ \xi > 0\\ \lim_{u, v \to \pm \infty} \Im(u, v, \xi) = 0. \end{cases}$ (59)

Now, employing the Fourier sine transform on Equation (58), multiplying by $\frac{2}{\pi} \sin \mu u \sin \vartheta v$, and integrating it within the range of 0 to ∞ in respect of *u* and *v*, we obtain:

$$D_{\eta,\theta,0^{+}}^{\Theta,\sigma,\lambda}\widehat{\Im}_{fst}(\mu,\vartheta,\xi) = k^{2} \left\{ \frac{2(\mu^{2}+\vartheta^{2})}{\pi\mu\vartheta} \Im(0,0,\xi) - (\mu^{2}+\vartheta^{2}) \widehat{\Im}_{fst}(\mu,\vartheta,\xi) \right\}$$
$$= \frac{2k^{2}(\mu^{2}+\vartheta^{2})}{\pi\mu\vartheta} - k^{2}(\mu^{2}+\vartheta^{2}) \widehat{\Im}_{fst}(\mu,\vartheta,\xi),$$
(60)

where $\Im_{fst}(\mu, \vartheta, \xi)$ denotes the Fourier sine transform of $\Im(u, v, \xi)$.

After rearrangement of the terms in Equation (60), we obtain the following FDE:

$$D_{\eta,\theta,0^{+}}^{\Theta,\sigma,\lambda}\widehat{\mathfrak{S}}_{fst}(\mu,\vartheta,\xi) + k^{2}\left(\mu^{2}+\vartheta^{2}\right)\widehat{\mathfrak{S}}_{fst}(\mu,\vartheta,\xi) = \frac{2k^{2}\left(\mu^{2}+\vartheta^{2}\right)}{\pi\mu\vartheta}.$$
(61)

Applying the KT transform on both sides of Equation (53), we obtain:

$$B\left(D_{\eta,\theta,0^{+}}^{\Theta,\sigma,\lambda}\widehat{\mathfrak{S}}_{fst}(\mu,\vartheta,\xi)\right) + k^{2}\left(\mu^{2}+\vartheta^{2}\right)\overline{\mathfrak{S}}_{fst}(\mu,\vartheta,s) = \frac{2k^{2}\left(\mu^{2}+\vartheta^{2}\right)}{\pi\mu\vartheta}s^{5}.$$
 (62)

Using Lemma 2, Equation (62) transforms into:

$$s^{-2\sigma}(1-\theta s^{2\eta})^{\Theta} \widehat{\mathfrak{S}}_{fsl}(\mu,\theta,s) - s^{2\lambda(1-\sigma)+3}(1-\theta s^{2\eta})^{\Theta\lambda} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^+}^{-\Theta(1-\lambda)} \widehat{\mathfrak{S}}_{fsl}(\mu,\theta,\tilde{s}) \right)_{\tilde{\xi}=0^+} \\ + k^2 (\mu^2 + \theta^2) \widehat{\mathfrak{S}}_{fsl}(\mu,\theta,s) = \frac{2k^2 (\mu^2 + \theta^2)}{\pi \mu \theta} s^5 \\ \widehat{\mathfrak{S}}_{fsl}(\mu,\theta,s) \left[s^{-2\sigma}(1-\theta s^{2\eta})^{\Theta} + k^2 (\mu^2 + \theta^2) \right] \\ = s^{2\lambda(1-\sigma)+3}(1-\theta s^{2\eta})^{\Theta\lambda} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^+}^{-\Theta(1-\lambda)} \widehat{\mathfrak{S}}_{fsl}(\mu,\theta,\tilde{s}) \right)_{\tilde{\xi}=0^+} + \frac{2k^2 (\mu^2 + \theta^2)}{\pi \mu \theta} s^5 \\ \widehat{\mathfrak{S}}_{fsl}(\mu,\theta,s) = \frac{s^{2\lambda(1-\sigma)+3}(1-\theta s^{2\eta})^{\Theta\lambda} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^+}^{-\Theta(1-\lambda)} \widehat{\mathfrak{S}}_{fsl}(\mu,\theta,\tilde{s}) \right)_{\tilde{\xi}=0^+} \\ + \frac{2k^2 (\mu^2 + \theta^2)}{\pi \mu \theta} s^{2\sigma} (1-\theta s^{2\eta})^{\Theta} k^2 (\mu^2 + \theta^2) \\ + \frac{s^{2\alpha}(1-\theta s^{2\eta})^{\Theta} k^2 (\mu^2 + \theta^2)}{2k^2 (\mu^2 + \theta^2)^3} \\ \widehat{\mathfrak{S}}_{fsl}(\mu,\theta,s) = s^{2[\lambda(1-\sigma)+\sigma]+3}(1-\theta s^{2\eta})^{-\Theta} \left(1 + \frac{k^2 (\mu^2 + \theta^2)}{s^{2\sigma}(1-\theta s^{2\eta})^{\Theta}} \right)_{\tilde{\xi}=0^+} \\ + \frac{2k^2 (\mu^2 + \theta^2)}{\pi \mu \theta} s^{2\sigma+5}(1-\theta s^{2\eta})^{-\Theta} \left[1 + \frac{k^2 (\mu^2 + \theta^2)}{s^{2\sigma}(1-\theta s^{2\eta})^{\Theta}} \right]^{-1} \\ \widehat{\mathfrak{S}}_{fsl}(\mu,\theta,s) = s^{2[\lambda(1-\sigma)+\sigma]+3}(1-\theta s^{2\eta})^{-\Theta} \left(1 - \theta s^{2\eta} \right)^{-\Theta} \left(1 - \theta s^{2\eta} \right)^{-m\Theta} \\ + \frac{2k^2 (\mu^2 + \theta^2)}{\pi \mu \theta} s^{2\sigma+5}(1-\theta s^{2\eta})^{-\Theta} \left(1 - \theta s^{2\eta} \right)^{-m\Theta} \\ + \frac{2k^2 (\mu^2 + \theta^2)}{\pi \mu \theta} s^{2\sigma+5}(1-\theta s^{2\eta})^{-\Theta} \left(1 - \theta s^{2\eta} \right)^{-m\Theta} \\ \widehat{\mathfrak{S}}_{fsl}(\mu,\theta,s) = s^{2[\lambda(1-\sigma)+\sigma]+3}(1-\theta s^{2\eta})^{-\Theta} \left(1 - \theta s^{2\eta} \right)^{-m\Theta} \\ + \frac{2k^2 (\mu^2 + \theta^2)}{\pi \mu \theta} s^{2(\lambda(1-\sigma)+\sigma(m+1))+3}(1-\theta s^{2\eta})^{-[(m+1)-\lambda]\Theta} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^+}^{-\Theta(1-\lambda)} \widehat{\mathfrak{S}}_{fsl}(\mu,\theta,\tilde{\mathfrak{S}}) \right)_{\tilde{\mathfrak{S}}=0^+} \\ + \frac{2k^2 (\mu^2 + \theta^2)}{\pi \mu \theta} s^{2(\lambda(1-\sigma)+\sigma(m+1))+3}(1-\theta s^{2\eta})^{-[(m+1)-\lambda]\Theta} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^+}^{-\Theta} \widehat{\mathfrak{S}}_{fsl}(\mu,\theta,\tilde{\mathfrak{S}}) \right)_{\tilde{\mathfrak{S}}=0^+} \\ + \frac{2k^2 (\mu^2 + \theta^2)}{\pi \mu \theta} s^{2(\lambda(1-\sigma)+\sigma(m+1))+3}(1-\theta s^{2\eta})^{-[(m+1)-\lambda]\Theta} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^+}^{-\Theta} \widehat{\mathfrak{S}}_{fsl}(\mu,\theta,\tilde{\mathfrak{S}}) \right)_{\tilde{\mathfrak{S}}=0^+} \\ + \frac{2k^2 (\mu^2 + \theta^2)}{\pi \theta} s^{2(\lambda(1-\sigma)+\sigma(m+1))+3}(1-\theta s^{2\eta})^{-[(m+1)-\lambda]\Theta} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^+}^{-\Theta} \widehat{\mathfrak{S}}_{fsl}(\mu,\theta,\tilde{\mathfrak{S}}) \right)_{\tilde{\mathfrak{S}}=0^+} \\ + \frac{2k^2 (\mu^2 + \theta^2)}{\pi \theta} s^{2(\lambda(1-\sigma)+\sigma(m+1))+3} \left(1 - \theta s^{2\eta} \right)^{-[(m+1)-\lambda]\Theta} \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^+}^{-\Theta}$$

where $\Im_{fst}(\mu, \vartheta, s)$ denotes the KT transform of $\Im_{fst}(\mu, \vartheta, \xi)$. Now, applying the inverse of the KT transform on both sides of Equation (63) and using Lemma 1 and Equation (14), we obtain:

Applying the inverse of the Fourier sine transform on both sides of Equation (64), we obtain:

$$\Im(u,\xi) = \frac{2}{\pi} \int_0^\infty \int_0^\infty \sin \mu u \sin \vartheta v \left(E_{\eta,(1-\lambda)(1-\sigma),\theta,0^+}^{-\Theta(1-\lambda)} \widehat{\Im}_{fst}(\mu,\vartheta,\xi) \right)_{\xi=0^+} \times \left(\sum_{m=0}^\infty (-1)^m k^{2m} (\mu^2 + \vartheta^2)^m \xi^{\lambda(1-\sigma)+\sigma(m+1)-1} E_{\eta,\lambda(1-\sigma)+\sigma(m+1)}^{[(m+1)-\lambda]\Theta}(\theta\xi^\eta) \right) d\mu d\vartheta$$

$$+ \frac{4}{\pi^2} \int_0^\infty \frac{\sin \mu u}{\mu} \int_0^\infty \frac{\sin \vartheta v}{\vartheta} \left(\sum_{m=0}^\infty (-1)^m k^{2(m+1)} (\mu^2 + \vartheta^2)^{m+1} \xi^{\sigma(m+1)} E_{\eta,\sigma(m+1)+1}^{(m+1)\Theta}(\theta\xi^\eta) \right) d\mu d\vartheta.$$
(65)

This is the desired analytical solution of the HP fractional diffusion Equation (58).

6. Conclusions

In this work, the Kharrat–Toma transforms of the Prabhakar integral and HPFD and its regularized version are derived. Furthermore, the solutions of some fractional order Cauchy problems and diffusion equations arising in mathematical physics with the HPFD and its regularized Caputo version are also computed utilizing the derived results of the KT transform of the HP derivatives. The solutions of the HP fractional order Cauchy problems and diffusion equations were obtained in the form of generalized Mittag–Leffler function. The present work illustrates that the computation of solutions of fractional order Cauchy problems and diffusion equations with KT transform is very much easier than other integral transforms.

Author Contributions: Conceptualization, V.P.D. and J.S.; Methodology, J.S., S.D. and D.K.; Software, S.D. and D.K.; Validation, J.S. and S.D.; Formal analysis, V.P.D. and D.K.; Investigation, V.P.D., J.S. and D.K.; Resources, D.K.; Data curation, J.S. and S.D.; Writing—original draft preparation, V.P.D. and D.K.; Writing—review and editing, J.S. and D.K.; Visualization, S.D.; Supervision, J.S. and D.K.; Project administration, V.P.D. and D.K. All authors have read and agreed to the published version of the manuscript.

Funding: This research received no external funding.

Data Availability Statement: No new data were created or analyzed in this study. Data sharing is not applicable to this article.

Conflicts of Interest: The authors declare no conflict of interest.

References

- 1. Kharrat, B.N.; Toma, G.A. A new integral transform: Kharrat-Toma transform and its properties. *World Appl. Sci. J.* 2020, *38*, 436–443.
- Hilfer, R. Fractional calculus and regular variation in thermodynamics. In *Applications of Fractional Calculus in Physics*; Hilfer, R., Ed.; World Scientific: Singapore, 2000; p. 429.
- 3. Podlubny, I. Fractional Differential Equations; Academic Press: New York, NY, USA, 1999.
- 4. Kilbas, A.A.; Srivastava, H.M.; Trujillo, J.J. *Theory and Applications of the Fractional Differential Equations*; North-Holland Mathematics Studies; Elsevier: Amsterdam, The Netherlands, 2006; p. 204.
- 5. Hilfer, R. *Threefold Introduction to Fractional Derivatives. Anomalous Transport: Foundations and Applications;* Germany Publishing: Weinheim, Germay, 2008.
- 6. Garra, R.; Gorenflo, R.; Polito, F.; Tomovski, Z. Hilfer-Prabhakar derivatives and some applications. *Appl. Math. Comput.* **2014**, 242, 576–589. [CrossRef]
- Panchal, S.K.; Khandagale, A.D.; Dole, P.V. Sumudu transform of Hilfer–Prabhakar fractional derivatives and applications. In Proceeding of the National Conference on Recent Trends in Mathematics, Tuljapur, India, 15 July 2016; Volume 1, pp. 60–66.
- 8. Singh, Y.; Gill, V.; Kundu, S.; Kumar, D. On the Elzaki transform and its applications in fractional free electron laser equation. *Acta Univ. Sapientiae Math.* **2019**, *11*, 419–429. [CrossRef]
- 9. Singh, Y.; Kumar, D.; Modi, K.; Gill, V. A new approach to solve Cattaneo-Hristov diffusion model and fractional diffusion equations with Hilfer-Prabhakar derivative. *AIMS Math.* **2019**, *5*, 843–855.
- 10. Hristov, J. Approximate solutions to fractional subdiffusion equations. Eur. Phys. J. Spec. Top. 2011, 193, 229–243. [CrossRef]
- 11. Hristov, J. Transient heat diffusion with a non-singular fading memory: From the Cattaneo constitutive equation with Jeffrey's Kernel to the Caputo-Fabrizio time-fractional derivative. *Therm. Sci.* **2016**, *20*, 757–762. [CrossRef]
- 12. Ma, Y.; Zhang, F.; Li, C. The asymptotics of the solutions to the anomalous diffusion equations. *Comput. Math. Appl.* **2013**, *66*, 682–692. [CrossRef]

- 13. Sene, N. Stokes first problem for heated flat plate with Atangana-Baleanu fractional derivative. *Chaos Solitons Fract.* **2018**, 117, 68–75. [CrossRef]
- 14. Debnath, L.; Bhatta, D. *Integral Transforms and Their Applications*; Chapman and Hall/CRC, Taylor and Francis Group: New York, NY, USA, 2007.
- 15. Prabhakar, T.R. A singular integral equation with a generalized Mittag-Leffler function in the kernel. *Yokohama Math. J.* **1971**, *19*, 7–15.
- 16. Kilbas, A.A.; Saigo, M.; Saxena, R.K. Generalized Mittag-Leffler function and generalized fractional calculus operators. *Integral Transform. Spec. Funct.* 2004, 15, 31–49. [CrossRef]
- 17. Dattoli, G.; Giannessi, L.; Mezi, L.; Torre, A.; Caloi, R. FEL time-evolution operator. *Nucl. Instrum. Methods Phys. Res. A* **1991**, 304, 541–544. [CrossRef]

Disclaimer/Publisher's Note: The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.